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- State the condition' for a diStortion le-.' :

| ‘ZSC'_GOO ~20°Q . e

. Write the expi"essi_on for Stan'ding Wagve ratio int‘ei*ms’b_f reflection co-efficient.

- line.
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(Use: Smlth chart j.s to be prov1ded)
- Answe-r ALI_g'quesmons:- S

© PART A~ (10 2= 20 marks)

i Fmd the characteﬂstlc 1mpedance of a 11ne at 1600 Hz. 1f Zoc = 750 —30 and -

--~¢-’->'

‘What do the 'n‘odes.'and anti-nodes“on'?'a 'Standing wave represent?

Dlstmgulsh between Smgle Stub and double stub matchmg in a transmlssmn

How is impedance nlatching achieved :With stubs?

i
[

‘ What are the ma]or draw backs of a constant ~k prototype fﬂter‘?

f»

: 'A Constant T- Sectlon hlgh pass fllter has acut off frequency of 10 KHz and the

design’ impedance is 6000Q. Determlne the Value of Shunt 1nductance L and
Senes Capac1tance C = - A

.4
t o

Justify why TM,, and TM,, };r_lodes'in;':a_iectangul_ar Wave-g_uide do not exit. -

-How a cavity resonator is formed? What are its different types? -
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Der1ve the general transm1ss1on l1ne equat1ons for voltage and current at

. any pomt ona Llne _ T R (13) ‘
or | |
@ _E:xplam in detazl about the reﬂectlon on a line not termmated by its
' ‘charactemstlc 1mpedance zO T S _ (7)_
- (1) _The Constant of a transmlssmn hne “are R . GQ/km o

L = 2.2 mH/km, C ="0:005 pF /km and-G = 0.25:x 10 -3 mho/km,

: .' Calculate the characte11st1e 1mpedance attenuatlon constant and
.phase constant at 1000 Hz oo S (®)

KO Derlve the hne constants of a zero d1ss1patlon less line. o '(_"7)' .

' ‘(i'i)r. Br1eﬂy explam on :

'(l) StandmgWave o EE 3
(2). Reﬂeetlonloss I IR "(3)":'.'

Or -

.Derive an expression for power and ﬁnd the 1nput 1mpedance of -
dissipation less line. When. the load is short. c1rcu1ted open c1rcu1ted and .
for a matched line. T T PR ' L (A3) L

. .fq*uarter wave: transformer and mentlon 1ts '
1rnportant apphcatmns : : e I (5)

@ A swgle stub is.to match a load 4OOQ 11ne to a load of 200-] 5 1000

'(b)

(a)

®)

The Wave length is 3m. Determme the pos1t10n and length of the e

, short 01rcu1ted stub. FRRCEE ‘ e T 3,
A0 lo's'sle:ss transmission line is to be 'rnatc'hed. with a(100-j80) Q
using single stub. Calculate the stub length and its distance from the

- load correspondmg to the frequency of- 30 MHz usmg Smith chart ‘(18)

{1) 'Derwe the equatlons for the oharacter1st1c 1mpedance of

.symmetrlcal’l‘and 1 networks L S (6)

'(i_i)" VDes1gn T and I1 seot1on LPF Wthh has serles 1nductance 80 rnH

- and shunt capamtance 0 022 ,aF F1nd the f and des1gn 1mpedanee
' : T : - (D -
Or o

What is m der1ved fllter‘? Draw a m- derlved T sectlon and b4 sect1on low

~pass filter and explain the analys1s of m derived low pass filter -with
‘respect to attenuation, phase shift. and characterlstlo 1rnpedance with

' frequency profﬂe respectwely Lo . S (13)

e saoiE
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(b)

o

(b) ‘
' -fm2000Hzf =2050 1z, R, =500Q. sy

Derive an expression for the transmlssmn of TE waves between parallel

2 perfectly conducting planes for the f1e1d components . (13) -

Or -

For a frequency of 10 GHz and planes separatlon of 5 cm in air, flnd the

cut off frequency, cut off Wavelength phase velornty and group Velomty of -
the wave. - . ‘ R . (13)"

PART C— (1 X 15 = lo marks)

A generator of 1 V lKHz supphes power to a 100 km open wire hne_,
terminated in Z;, and having following “the line parameter are

R =104Q/km, L =38 mi/km, C = OOSS,LLF/km and G = 0.8 x 10° mho/km.
‘Calculate ZO, a, B, A,v. Also fmd the recewed power ‘ R (15)

COr .

DeS1gn a'low pass comp051te filter to meet the followmg spemﬁcatmns




